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If f(x) = 2x and g(x) = V¥, find the domain of:
a 2809 - f(x)
b f(x) gx)
E
c [ f]m
If f(x) = |2+ 1] and g(x) = Vx" 4, find the domain of [ij(x)
&
Let/(x) =+ +2¢— land g(x) = 1 — 2 - 3
Find
a f(g@) b (1) e fUSO) d g(g()
Letft) = 1 - 2x, () = — 1 and h(x) = V2x + 4
a Find i f(g() i g(h() fh@) v h(g@)
b Find the domain and range of the functions in a.

¢ Confirm your results to a and b graphically.
d Find f(g(1)), and hence h(f(g(1))

Find expressions for f(x) and g(x) such that f(g(x)) = x* ~ 2

Find expressions for ¢(x) and k(x) such that (i  g)(3) = V2% —3
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Exercise 21

Find the inverse of each function, if it exists.
Justify your answer algebraically, and confirm graphically.
1

1 y=3x-1 2 y=

3

3 y=2-2x20 4 y=2+1,x<0
5 y=x+dr-1,x2-2

RAM-STYLE DUESTIONS
Determine algebraically if y = 1 = 2xis its own inverse.

Given that f(x) = 3 and g(x) = 2x + 1, show that
flegH@=(g)'®

. 2x+1 .
Given /()= 2, x = 1, find the inverse function of £ clearly
stating its domain.
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Exercise 2J

For each function y = f(x), drawa y = | f(9)1;b y=f(Ix]).
Draw each part on the same set of axes as y = f(x).

KAM-STYLE QUESTIONS
y=1-dx 2 y=x-2¢ 3 y=-3+x-l

y=X+3-2 5 y=Bx+l-4
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Exercise 2K
Fory = f(x), sketch y = [' 5 on the same set of axes,including

asymptotes, intercepts, and any maximum and minimum points.

1 y=x+4 2 y=1-3«
3 y=x-4 4 y=-xx-2)
5

2x-3
: EXAM-STYLE QUESTION

6 Copy the graph of y = f(x) and sketch the graph of Dn the
same set of axes.

a b P





